EARAROBREBRT —5 XN—ZXBISH—F 20232868 (B) 1MO#stE1H

W HS>%3% WA 145/FLE230AKHE ‘(fﬁ} W ‘I%EH?’JFE‘?] - | 5 10m =
[xE%] 1% :1,800,000F . 23%&:720,000 . 33&:450,000 @  43&:270,000 9 . 5 & :180,000 /3
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
PSR w3 | IR 1:17.5 333 [38.8| - 1 464 | FKEA (#648)
11718 |9V9—-3URK 56.0 (=) o | BlIER
RiNZ—ka1—2 B:IA4—VFTNIA (-6) s BE
e g s 3 | fHEARFIE 1:18.2 4-4-4 39.3| — 2 462 | NIBE— (#a18)
215|5 | Y= =-— 54.0 B) Loy | SEHRE
RV v INARE— B:YZIURA (-2) #i‘.f.‘;T'—L\
= _ 3 | REEZ 1:18.4 2-2-2 | 40.0| - 3 498 | BB (MGHB)
3 7 /U\:L 'j_/\z_jg o 56.0 a1/2 ) |EBE—
RiARSKR=Z—9 B:HYI5I21/ FERUS
— — 4 3 | WIgsHL 1:18.5 5-5-6 39.4| — 6 466 | EHE (ot
4 |10 7\23 “'_\,77_9 N >4.0 L) 45 | EEEE
R IWR709 B:RSIVSvyva palsive ]
5lgl11|INATU—=U 3 ﬁﬂtﬂ)EE 1:(1%.9 867 |39.8| — | 8 | 455 b%g)%%gﬁ)
. 2
RIRZRDF—UT BRAFUYTIALORYR 0| smsgig
= ~ 4 3 | ERE 1:18.9 11-8-8 |39.5| — 5 484 | RBIIZR CA0)
6111 9794U_/ N S 793 (4 |EEAEL
RNV vH—)L B:750-Y BRRS
)= 3 | EG—H 1:19.1 6-10-9 |39.5| - 9 495 | B®O—R CGAEFD)
*j/_r/_/ v ‘ A53.0 (3/4) 6 | (B JPNE#
R:ISVFwYr §:drUa— Ll R
A — o3 | EHB 1:19.4 10-7-5 [40.3| — | 7 | 479 |#4) (Rdfd) \
U/><77_r )l/. o 56.0 a 1/2) @10 |#) VL= T
RINMVTSY BALYS—H—I izl s =
= y B3 | AEEKR 1:19.9 1-1-1 | 416 — 4 | 42 | KFEE (1B
IR T AT A 3.0 @172 ¢y |B2Em
RIZVTVE/ )T BOSEVILTA ARYS
E“lu. . — - — ;‘ﬁ"% \Iﬂ
HaAYO7 Y N # 3 563% (11210/22) 9-11-11 | 40.5 10 (4+313) Eafg—i o)
RiZvF—0Orv b B:AE—F1—R-—9 76 | | ZRE 4
N =34 . _9- _ = i
REXF/NST AR 3 Eg%n% 1.(261).5 7-9-10 | 41.9 1 (4—547) Eggﬁ(ﬁ’ﬁ)
RYNIOSYY AL/ -7 RRYIS BR R
@ 1—F—&RIEL
13—7—
20—F— 4,7,8,5,10,6,3,11,9,2,1
30—7— 4,7,8,5,10,11,2,1,3,6,9
43—F— 4,7,8,5,2,10,11,1,6,3,9
0 ILRE
BB 8 130 JA R 5-8 140M e B 5-7 270 3EE 5-7-8 680M3
B B 8 1009 7-8 280M (=1 7-5 210 3EH 8-5-7 1,450M4
5 120/ 5-7 3504 5 & 5-8 220
7 1504 =51 8-5 310

ABIC OV TRUTEREERRODDZE. THRIIZEL.



